Chapter 4 Review Extra Practice Answers

l.a) x=—-2,-1,3 5.a) xe(—2,4)
b) x = —4, -2,1,2 b) xe (—o0, 2] and xe[5, 00)
ox=-1,2,3 c) xe(—6,1) and xe (1, o0)
d)x=-3-21 d) xe (=00, —4]and xe[—1, 0] and x€[6, c0)
e) x = —4,1 e) xe(—o00, —1) and xe (3, 4)
f)x=-2,1,2 f) xe[2,4]andx =0
2.a) x = —6.97 6.2a) xe(—o00, —6) and xe (—2,7)
b) x = —2.96, 1.28 b) no solution
¢ x=—217,0,1.84 c) xe(—3,2)
d)x=—074,1 d) xe (—3,0) and xe (1, 2)
e) x = —1.32 e) xe(—3,0)and xe (1, 2)
f) x = 1.48, 6.95 f) xe (—o00, —2) and xe(—1, 0) and x= (0, 2)
3. a) {xeR’x>2} 7.a) —3
b) {xeR|x <—4} b) —1
c) {xeR’xSS} 5
d) {xeR|x = 3} d -
¢) {xeR|x <1} gg
f) {xeR|x= —10}
8.a) —3
4. a) x = 2 is a solution and xe( ,7) b) —2
b) x = 2 is a solution and xe (—6, 2] ¢) 1.39
¢) x = 2 is not a solution and xe (2, 8) d) 0.18
d) x = 2 is not a solution and x€[3, 15] e) 2
e) x = 2 is not a solution and xe (1, 2) f) 18

f) x = 2 is a solution and xe {7 5}
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